M5 Series
Bulkhead Reducer: M-5ER

Miniature Fittings M Series

Manifold: M-5M

Re
=

£ Width across
flats 14 e

=

M12x0.75

M5 x 0.8

Width across flats 14
ling plate thickness

3.5 max.

For the plate thinkness 3.5 to 6 mm, give the plate
tapping M12 x 0.75, and then screw-in.

Weight: 12 g

9xM5x08 7

M12 x 0.75

{1 y
Width across
flats 17 i‘—‘\ o oo —
65 53
29 157] 3

Panel mounting plate thickness max. 3.5 mm
For the plate thinkness 3.5 to 6 mm, give the plate
tapping M12 x 0.75, and then screw-in. Weight: 59 g

Bushing: M-5B

Plug: M-5P

Width across

EIEJSS EXIEIIFRIERIES
::nr,:'gﬁ-n g"‘”gs

M5 x 0.8 lats 10
| Width across
j mg a gﬁg% ﬂaM‘ssz 0.8
RV ~
Weight: 5.8 g Weight: 1.3 g
| /\ Precautions | [kwta0
e T e, e o ] ] ] ]l o o o
1 Be sure to read this before handling the products. 1
I Refer to back page 50 for Safety Instructions and pages 13 to 17 for Fittings and Tubing 1

I Precautions.

- e e e M e R M M R M R M R M M Mm M e R M mm e e e mm e e e e

| Tightening of M3/M5 Threads |

[ Use of Tube with Hose Nipple |

| Use of Tube with Barb Fitting |

A\ Caution

1. Tighten by hand, and give it an additional turn
with a wrench.
Please check the number of tightening
revolutions using the table below.
If tightened excessively, thread portion may be
damaged and gasket may be deformed. This
will cause air leakage. On the contrary, if
tightened insufficiently, thread may loosen
causing air leakage.
Thread Model
M-3AU-00
M-3N
M-3P
M-3ALU-O
M-3UL
M-3UT
M-5AN-0J
M-5AU-00
M-5H-00
M-5J
M-5N
M-5UN
M-5P
M-5ALN-6
M-5ALU-6
M-5ALHN-6
M-5ALHU-6
M-5HL-00
M-5HLH-O0
M-5ALN-4
M-5ALU-3,4
M-5ALHN-4
M-5ALHU-3,4
M-5UL
M-5UT
Note) As a guideline, the tightening torque should
be1to 1.5 N-m.

Number of tightening rotations

Approx. 1/4 rotations

M3

Approx. 1/2 rotations

Approx. 1/6 to 1/4
rotations Note)

M5

Approx. 1/2 rotations Nete)

A\ Caution

1. Cut the tube perpendicularly to the tube
axis to a little longer than required length.
(Use tube cutter “TK-17, “TK-2” or “TK-3".)

2. Pass the tube through the cap nut.

3. Push the tube until it comes to the end of
the barb portion, or it may cause air
leakage or hose releasing.

4. Tighten the cap nut firmly by hand on the
fitting.

A\ Caution

1. Cut the tube perpendicularly to the tube
axis to a little longer than required length.
(Use tube cutter “TK-1”, “TK-2” or “TK-3".)

2. Push the tube until it comes to the end of
the barb portion, or it may cause air
leakage or release hose.

199

=

KaG2

=
=
=

5|3

=
=]
=]

7

=]
=



